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When an electric dipole P is placed in a uniform
— —

electric field E then at what angle between P

N
and E the value of torque will be maximum ?

(1) 90° 2) 0°

(3) 180° (4) 45°

A charged particle of mass m and charge q is

N
released from rest in an uniform electric field E .

Neglecting the effect of gravity, the kinetic
energy of the charged particle after 't' second is
(1) Eqm 2) E’¢’t

t 2m

(3) 2E?t? (4) Eg’m
mq t2

Two charges are at a distance d apart. If a

d
copper plate of thickness 5 is placed between

them, the effective force will be,

(1) 2F (2) F12

(3) 4F (4) None of these

At a given place on the earth's surface, the
horizontal component of earth's magnetic field is 3
x 107> T and resultant magnetic field is 6 X 10°T.

The angle of dip at this place is

(1) 30° (2) 40° (3) 50° (4) 60°

After 280 days, the activity of a radioactive
sample is 6000 dps. The activity reduces to
3000 dps after another 140 days. The initial

acitivity of the sample in dps is
(1) 6000 (2) 9000

(3) 3000 (4) 24000

1.

o3 [ylau sisule p 2 [Fufid @Yyddst

— . — —
E HiYysdl s4lWERl P A E UR HedH
25 d1l 2

(1) 90° (2) 0°

(3) 180° (4) 45°
As [AYdeR]ld $Qle] £ m el [AYdeR q A

Fufid [@yddAd E  Hi olsami wd

Rl 15Nl ofl WU WA, dl 5QLef] 't AHY
wle AAdGlost Annd),

(1) Eqm 2) E?¢*t?
t 2m

(3) 2E°¢ 4) E¢’m
mq t2

A (ARl wWsu{lamel] d 2id? dledd & AR
Aus{l g2 sdul wjo F @19 8. &d 31 % 1S 1eSetl

dicdls{l @ea AHeil 4R YsaHi w1 dl WASRS
(1) 2F (2) F2

(3) 4F 4) WS Ul &l

yeilefl quldl u (eigd yedlel ywsly
AAell YH(E (A% 825 3 x 107 T 24 ulQudl
sl &4 6 x 107 T B, il [6ig U2 Sluxlalg
Had),

(I) 30° (2) 40° (3) 50° (4) 60°

280 [eadl ugl, 2AsAL Alsed  «iysileil
A[s2dl2]l 6000 dps 8. oflast 140 (eddl uel
g2l A(sedldl 3000 dps UL B, dl i
aiYsilo{l UIR(MHS W (52(dl] dps Hi Aol

(1) 6000 (2) 9000

(3) 3000 (4) 24000

1/28

[ ]

[ ]



> @ GUJCET-1
6. A point charge q is placed at the centre of a 6. s [?»ig,qd [E{iid(‘-ll{ qaL 0+l°§b~n dlddl
cube of side length L The electric flux AHeelel] Fog, U 435G 8. yHeeHie] weR
emerging from the cube is ...... ¥ldd s45U......
m 2 @) zero M o @ Y
(3) 6ql’ @ _4 (3) 6qP @ 9
= 6L2€ €0 6L2€,
7. A charged insulator is bnroght close to an 7. ([Qyd@Rld Hdlesa [AgdelR 2Eld Yalsseil
uncharged metal AseH o125 dlddl,
(1) There is no electrostatic force between them (1) oia 4 [ag[?m Wuletl €13
(2) There is electrostatic attraction between them (2) ol g (ay(dy NN
(3) There is electrostatic repulsion between them (3) Gl 9 [(dy(dy VNN
(4) After sometime insulator gets uncharged (4) elSL ¥HY olle wales Uel [AydeR te
and metal gets charged
8.  Which one of the following ratios is always | 8.  2ledglH2 Hi «{lQeil Uil sAL YLl &Nall
less than unity in a transformer ? N (g«ﬂa) 5l ALY eE 2
(1) Voltage transformation ratio (1) dleey é[a—a\sﬂfig[a{ (R[4 RN
(2) Current transformation ratio (2) Jdls eUidRel (Qlﬂ'?:{\‘ﬂﬂ:%ld) {LQHIR
(3) Power transformation ratio (3) UldR ¥UidR (2leasliele) el
(4) Ratio of turns in the windings. (4) Aol wi2llef] uledl QR
9.  Electromagnetic radiation of highest frequency is | 9. sl [A&dwi51d [cl(5:M{] Hew wlg [ 1AL
(1) infra red radiations (1) 5135 [Al52:0)
(2) visible radiation (2) ¢QuHlst [A[500
(3) radio waves (3) UsAU dail
(4) X-rays @) X-[s20l
10. 10.

2/28

An electromagnetic wave passing through

vacuum is described by the equation :

E = Eg sin(kx — ot) and
B = By sin(kx — ot) then
(1) Eo = By 2) Eoo = Bok

(3) EoRy = ok (4 Eok = Boo

| (dyd Yeilsa ddl QerumdsiaHiel yaR

ad €ld dl dal 2URldls ey

E = Ejsin(kx — ot) ua
B = Bgsin(kx — of) d5e2d 8, dl ...
(1) Eo = Bo (2) E()(D = Bok
(3) EoRo = ok (4) Eok = B()(D
. 3002CMD302122064
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11. A convex lens of focal length 40 cm is in contact with 1. 40 cm 3egdulgalal (&l Aoy WA 25 em
a concave lens of focal length 25 cm. The power of o dulle dlonl vdolln Aoy U18 BLSdl il
combination is Y sl AAloelstl uld
(1) -1.5D (2) -6.5D (1) -1.5D (2) -6.5D
(3) +6.5D (4) +6.67D (3) +6.5D 4) +6.67D

12. A wire of resistance 20Q is bent in the form of | 12. 200 wdAds dRa ddalsik dladl dsil
a circle. Then the effective resistance between l™id (6igll dRell USRS AR ...
the ends of the diameter is...... UL
(1) 50 2) 10Q (H 50 (2) 10Q
(3) 150 (4) 20Q (3) 150 4) 20Q

13. Two metallic spheres of same mass are given 13. A ydles 2N YUl €0 ¥ Yol wa
equal and opposite charges, then : (Qlety [agdG{L{ g21ddl Sld dl
(1) the mass of positively charged sphere increases (1) tol [a% dei13ld A o £01 ad
(2) the mass of both remains the same 2) Oiaaj, L1 UUlol 28
(3) the mass of negatively charged sphere increases. (3) =l ﬁ% dei1dld sl o £ qd.

(4) the mass of the both spheeres increases. @) oiq Jnmlbnai €0 ).

14. A charge Q is divided into two parts q and Q - 14, (QydelR Q ol B M3l q Wl Q — q Hi (A
q and separated by a distance R. The force of 531 R vid? Y5l oial 9 HedH AHULSNRL W
repulsion between them will e maximum when CIRTS! Sl ol
() q=QH @ q=Q2 (1) q=Q/ ) q=Qn
3) 9q=0Q (4) None of these 3) q=Q 4) A5l A&l

15. A cube of side b has a charge q at each of its 15. b gl dlddl dHeetedl [RIRAGIgH uR
vertices. The electric field at the centre of the (R UR) [Ayd®IR q Y54l 8. dl YHEslsil
cube will be : Sor UR [Ayd - Had).

1 L @ 1 n L @ 1
2b2 b? 2v v

3 2 @) Zero O @) Yt
b? v

16.  The elctric potential V is given as a function of 16.  u¢l ([aydRefdMist vV A dR (X «il (AU V)
distance x (metre) by V = (5x2 + 10x — 9) Volt. V=5 + 10x—9) Volt 43 €106 B, dl x = 1 m i
Value of electric field at x =1 m is ([ayda ...

(1) -20 V/m (2) 6 V/m (1) 20 V/im (2) 6V/m
(3) 11 V/m (4) -23V/m (3) 11 V/m (4) -23V/m
3002CMD302122064 . . 3/28
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17. The equaivalent capacitance in the circuit 17. {1 ¢2uldd uuaHi A v B 4 yRQiH)
between A and B will be FUlesy Hadl.

1 uF 1 uF 1 uF 1 uF 1 pF 1pF
. I 11 ] o y——-{i :: II .
A 11 1 1 B A B
(1) 1pF (1) 1uF
(2) 2 pF (2) 2 uF
(3) 3 uF (3) 3uF
1

4 1 4 Z.F

7 2"

18. A 100 V voltmeter of internal resistance 20 kO 18.  uiddls wddd 20 k@ "AdL 100 V
in series with a high resistance R, is connected dlealesd G YRYell w1y Ry A& Aflui
to a 110 V line. The voltmeter reads 5V, the qAdl 110 vV dlgel dld BISIL 52D,
value of R is AR dieeH]e 5veila 8, dl Ry o Y&

(1) 210kQ (1) 210kQ

(2) 315kQ (2) 315kQ

(3) 420 kQ (3) 420kQ

(4) 440 kQ (4) 440 kQ
19.  Ifin the circuit shown below, the internal resistance 19.

4/28

of the battery is 1.5 Q and Vj and V, are the
potentials at P and Q respectively, what is the
potential difference between the points P and Q ?

20V,|1.5Q
|

I P 20
—AAN——— AN

20 Q 30

(1) zero
(2) 4 volts (Vp>Vy)
(3) 4 volts (Vo> Vp)

(4) 2.5 volts (Vo> Vp)

ofleil URUYH, cTeRell AidILs dY 1.5 Q
1A el P 3el Q WR [RU[dHIe Vp el vy Sl

dl P el Q A ([Ayd RetldHleiotl dslad .

207,150
L

30 P 20
—AN ——— W

20 Q 3Q
—W—.—V\N—

(1) et
(2) 4 volts (Vp> VQ)
(3) 4 volts (Vo >Vp)

(4) 2.5 volts (VQ>Vp)
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20. Thirteen resistances each of resistance R ohm are
connected in the circuit as shown in the figure

below. The effective resistance between A and B is

R R
R R
A B
R R
R R
(1) RQ
2 2R o
3
3) 4R,
3
(4) 2R Q

21. A long copper pipe carries a current. Then the

magnetic field is

(1) zero inside and finite outside
(2) finite inside and zero outside
(3) finite both inside and outside
(4) zero both inside and outside

22. Two long straight parallel conductors separated
by a distance of 0.5 m carry currents of 5 A and 8
A in the same direction. the force per unit length

experienced by each other is
(1) 1.6 x 107> N attractive
(2) 1.6 107° repulsive
(3) 1.6 x 10° N attractive
(4) 16 x 10° N repulsive

23. For a series LCR circuit the power loss at

resonance is

(1) V? ,
— =5 () I'Le
[mL — (n]_c}
3) 12R @ v?
Co
3002CMD302122064 .

20. R V&M @l 13 WaRldl 4 <A uHIEl FIsial
57l B dl A wa B 4yl wdy
Nadl.

R R
R R
A B
R R
R R
(1) RQ
2 2R
3
3) 4R g
3
4) 2RQ

21. A5 dinlell giodl doilui [aydudle ydR Al
8 dl ywsly &

(1) ¥ieR Yot 1 0&1R HALELd (finite)
(2) g HULEld W veIR Qs

(3) vieR va veR HUlled

(4) g o WSIR et

22. A dinl Hlal wWal AHidR AWl Ydles 4 0.5
m ol wd? AWEL . quiel 5 A wal 8 A <l
([@gydudle dHlel €luHiel]l MR a8 dl
A s0ilow U AU S el €16 Eldld WMo

(1) 1.6 x 107 N 415N]
2) 1.6 x 107> aulsy]
(3) 1.6 10° N wIsN]
(4) 16 x 10° N 2{uLsN]

23.  LCR A9 uluayi aefelle dwd Uldell cdy
Hadl.

n __ Vv 5
(2) 1°L
[(DL - (DLC] ®
> @ V2
(3) I’R oo
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24. The current i passed in any instrument in 4. g URL GlUSAAU | Bed) w121l ud LS i =2
altenating current circuit is i = 2 sin ot ampere and
in ot 2 (Agfd Re(dHleell dsldd V =5 cosot
potential difference applied is given by V = 5 i 4 ¥ o8
cosot volt. Power loss in the instrument is volt €14 L A1 GIUSAHI UlcRedl
(1) zero (2) 10 watt (1) s (2) 10 watt
(3) 5 watt (4) 2.5 watt (3) 5 watt (4) 2.5 watt
25. The speed of light in air is 3 x 10° m/s. What | 25. sdiMi uslelel Ao 3 x 108 m/s. QA dl 2.4
will be its speed in diamond whose refractive P24l dlsedelis tlddl [SAuiell uslol udR
index is 2.4% 2dl €14 IR defl 49|
(1) 3x10%m/s (1) 3 x10% mss
(2) 332m/s (2) 332m/s
(3) 1.25x 10% m/s (3) 1.25x 105 m/s
(4) 7.2 % 10° m/s (4) 7.2x 108 m/s
26. A plano-convex lens of (f = 20 cm) is silvered | 26. 3§ ¥HAE-0(&3{0 e (f= 20 cm) «il YHAE
at plane surface. Now f will be AUl Yiglell d1a 1M 4119 dl wldl fo YRU
(1) 20cm (2) 40 cm
(1) 20cm (2) 40 cm
(3) 30cm (4) 10cm
(3) 30cm (4) 10cm
27. In Young's experiment, the ratio of maximum to 27.  Yyolel A [Reeil uzngp_{'l’ 214 1511)ell HedH
minimum intensities of the fringe system is 4 : 1.
, g sy , [l 42 yetdid [oldled A NdR 4 : 1 S1U
The amplitudes of the coherent sources are in the ) '
ratio dl Yuleg GledHletl SUldddReAl IRNTR
(1) 4:1 2) 3:1 (1) 4:1 2) 3:1
(3) 2:1 4 1:1 3) 2:1 @) 1:1
28. The mean distance of sun from the earth is 1.5 28.  yedlel] Qill‘:c'i 3L 2id 1.5 x 108 km (1)
x 10® km (nearly). The time taken by the light Sl dl yUell usiela yedl U widdl dlaldl
to reach earth from the sun is UHY
(1) 0.12 min (2) 8.33 min (1) 0.12 min (2) 8.33 min
(3) 12.5 min (4) 6.25 min (3) 12.5 min (4) 6.25 min
29. The decay constant of a radioactive element is 29.

6/28

1.5 % 107 per second. Its mean life in seconds

will be
(1) 1.5x10° (2) 4.62x10°

(3) 6.67 x 10® (4) 10.35 x 10°

S AM52d Uslefoll &y [Hudis 1.5 % 1070 7!

Sl dl defl AsesHi AR ULA MY

9 8

() 1.5%x10 (2) 4.62x10

8 8

(3) 6.67x10 4) 10.35%x 10

3002CMD302122064
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30. When arsenic is added as an impurity to 30.  wAlAs gledla HllsloHi GHRdL ulaliHl
silicon, the resulting material is uelel
(1) N-type semiconductor (1) N-UslRlsll AHedLES
(2) P-type semiconductor (2) P-uslolell HuUdlES
(3) N-type conductor (3) N-UsRell ydles
(4) None of these (4) Asy el
31. Consider three concentric shells of metal A, B | 31.  15(dHi e2tlcal UHI YIRS divdlsll AQL A, B
and C are having radii a, b and c respectively as Wal ¢ AUECld Uldl dnRAlel [(AariA
shown in figure (a <b < ¢). Their surface charge b{aigﬂ a, b ¥a ¢ V. i (a<b<c). R
densities are o, -c and o respectively. Calculate AUl uR ﬁ%d@{l{ goidl Nﬂ%ﬂ G, -c ¥al
the electric potential on the surface of shell A. o S1A dl A «fl 4u1dl UR (aydRei(dHie
G &
M 2 @-1b+ ¢ M = @-b+ ¢
€0 €0
(o)
@ % a—b-o @ = (a-b-c)
€0 €0
c 3) S 2 a4l
(3)g(a2+bz+c2) ()80(a+ + ¢%)
c 4) 2 + b —
“4) g(a + b — ¢ e (a c)
2 2
. . 32. B°
32 The dimensional formula of — is..... — 9 ulRuL(GLs A ... 2]
2uo PATH)
() ML'T? @ ML T? 1) miLlr? ) mlL T2
3) ML T2 4) M'LIT2 3) M_lL—lT—z (4) MlLsz
33. Magnetic Flux linked with a coil is 33, squal Ml Bsidg 2;],0{5'121 545
¢ = 5t2 + 2t + 3, where t is in second . .
. & = 5t2 + 2t + 3, Wit A505 Wal ¢ AMRMU|
and ¢ is in weber. At time t = 1 sec., the value .
of induced emfis ......... volt. Sl dlt=1d55Uel dd emf ........ volt HA\.
14 @12 (@312 &6 M 14 @12 G 12 @6
34. A coil has self inductance L = 0.04 H and 34, JU0Ie] WIHWSA L = 0.04 H ¥l 3dRlY
resistance R = 12 Ohm. When it is connected to R = 12 Ohm &4, IR dal 220 V Wal 50 Hz
220 V, 50 Hz supply; what will be the current AW UL BISdl Uil udR «Udl
flowing through the coil ? ([@ydudls
() 1L.7A (2) 12.7A () 11.7A (2 127A
(3) 10.7 A 4) 147 A (3) 10.7A (4) 147A
3002CMD302122064 IS ° 1/28
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35.

36.

37.

38.

39.

40.

8/28

A square of side Lm lies in the x-y plane in a

region, where the magnetic field is given by
B — B, (2f 43§ +412) T, where By is
constant. The magnitude of flux passing

through the square is......Wb.

(1) 2B,L* (2) 3B,L*

(3) 4B,L* (4) v/29B,L?

The ratio of areas of the electron orbits for the
first excited state and the ground state for the

Hydrogen atom is

(1) 4:1 2) 16:1

(3) 8:1 4) 2:1

If the radii of nuclei of *’Al,; and ®*Zn,, are R, and R,

respectively, then % =

2

m 27 24 34+ @3
64 27 3 4

Name the gate, which represents the Boolean

expressiony = A - B.
(1) NAND (2) AND
(3) NOT (4) NOR

Electrically, an isolated P-type semi conductor is
(1) neutral

(2) positively charged

(3) none of the given

(4) negatively charged

A charged ball hangs from a silk thread, which
makes an angle 6 with a large charged conducting

sheet. The surface charge density o of the sheet is

proportional to......
(1) tan 6 (2) sin©
(3) cos® (4) cotH

35.

36.

37.

38.

39.

40.

Lm Goilgefl A5 ARY dsdla x-y AHAGH]
ysaMi  w[de 8 &l Jeslua
B = By <2§+3j+4f<>T, a3 WUl . By

WYNis B dl dsdl A Asaud
§A5U.... Wb &2l

2 2

(1) 2BgL (2) 3BgL

(3) 4BoL? (4) +/29B,L>

SIOSIel URHIQ U2 uUH Gddd Sélld
50 Wal YRLRel(de1l AAs0ell IR

(1) 4:1 (2) 16:1

3) 8:1 @ 2:1

2T Al 949 $47nq of] (ot 120) 24ofs R | 244 Ry

34 @3
3 4

y = A - Bell oj[@ya q1{lsl Hie A1y e
54 8,

(I) NAND (2) AND

(3) NOT (4) NOR

(Ag)dsfl 3ld, R85 P-UsIRe] wtdlss

(1) dee

(2) 4ol [aydeiRld

(3) 104 2]l

(4) 8l [aydeilRld

As [AgdeRld sl [Riess{l €13] a3 A1d] ld
gesldd 8 5 pefl s H12] ([aydeiild efle Al
0 S1Q welld dl ([AYd®R YB Eeldl o ... <l
UHUHIRIM sl

(1) tan© (2) sin®6
(3) cos6 4) cot@
° 3002CMD302122064
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Topic : CHEMISTRY

41.

42.

43.

45.

3002CMD302122064

The reduction of peroxydisulphate ion by I ion is
expressed by

$,02” +31~ —2S0% +1;

If rate of disappearance of T is 9/2 x 10° mol lit ' S,

what is the rate of formation of SOﬁ* during same
time

(1) 10°mol L' S

(2) 2x10°mol L' s}

(3) 3x10°molL 'S}

(4) 4x10°molL™' S
Radioactive decay follows

(1) Zero order kinetics

(2) Second order kinetics

(3) First order kinetics

(4) Pseudo first order kinetics

The half-life period for a reaction at initial
concentrations of 0.5 and 1.0 moles litre™
are 200 sec and 100 sec respectively. The

order of the reaction is
(H o 2 1
3) 2 4) 3

Which of the following is correct for a solution

showing positive deviations from Raoult’s law
(1) AV=+ve, AH=+ve

(2) AV =-ve, AH=-ve

(3) AV=+ve, AH=-ve

(4) AV=-ve, AH=+ve

The density of 3 M solution of Na,S,05 is 1.58 g/ml.
Calculate mole fraction of Na,S,05 :

(1) 0.96 (2) 0.045

(3) 0.74 (4) 0.25

41.

42.

43.

45.

WRASUSIUUGE W ¥sio] R51e1 T W el A4S
8,0 431~ — 2807 +1;

U150 Yoo UId . %) T el [deiest UiMdiedl
€292 x 10° Hld (@22 ! Ases ! Qlu d) dedl
o UHUMI SO2 ol [AAHiRIel) €2 T2l &2l 2

(1) 10734 [@ex ! Ases !

2 2x10° 14 @2 ! Ases!

(3) 3x10°ld (@2 ! Ases !

4 4x10° g [Ge ! Ases!
AsANA(5U [qelest ......... o WA B.
(1) e sl aAlds]

2) (gdld sueil auldsl

(3) ueH sHeil aA[ds]

(4) el vy suedl aulds)

s UlsAHD AxuLde(l Higdl 0.5 ¥4 1.0
ld @e ! w2 we iy yuy wesi
200 A595 o 100 AseS 1Y dl UlsUl $4 -
o
3) 2

2 1
4) 3

Bl ¢l AGERe1L [AUHHI Het (AU £21[Q d)
{13 Us) 5\ [Asey R B 2

(1) AV=+ve, AH=+ve

(2) AV=-ve, AH=-ve

(3) AV=+ve, AH=—-ve

(4) AV=—ve, AH=+ve

3 M NapSp03 ¢ldQleil eeldl 1.58 AH/Md]

S1Y dl NaySr03 «il Hld - 221 AARLl.

(1) 0.96 (2) 0.045

(3) 0.74 4) 0.25
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46. Given that Ep, . =-036V  and | 46. %) EQosi g = —0.36V Ul
El(:)ez‘*'/Fe = —0.439V respectively. Therefore E§e2+/Fe = —0.439V €W, dl EgeH’ Fe2t /pt o
value OngeH/FeH is : &Y
(1) (-0.36-0.439) V (1) (-0.36-0.439)V
(2) (-0.36+0.439) V (2) (-0.36+0.439)V
(3) [2(-0.36) +3(-0.439)] V (3) [2(-0.36) +3(-0.439)] V
(4) [3(-0.36) +2(0.439)] V (4) [3(-0.36) +2(0.439)] V

47. The standard reduction potentials at 298 K for | 47. 298 K dluHla wWe-UlsA1) HI2ell UHLBLd
the following half-reactions are given against Rss2lel Ul2(mo1ud 1A Yool QA dl Qe
cach. U A (5432t sctl 52 S92
Zn""(aq) t2¢ — Zn(s);-0.762 2+
Cr¥aq) +3e — Cr(s);—0.74V Z“3+(aq) T2 —7Zn(s);-0.762
2H' + 2e —H,(g);£0.0V Cr’ (aq)+3e —Cr(s);—-0.74V
Fe*" (aq)+e — Fe?' (aq); +0.77 V 2H' + 2e > Hy(g);£0.0V
Which is the strongest oxidising agent ? Fe3t (aQ)+e — Fe2t (aq); +0.77 V
(1) Zn(s) (1) Zn(s)

(2) Cr(s) (2) Cr(s)
(3) Hy(g) (3) Hz(g)
(4) Fe’' (aq) @ Fet (aq)

48. In a CCP lattice of X and Y, X atoms are 48. X Y ol ;adl WS cCP A2lPUUI X URHIRL
present at the corners while Y atoms are at face UWRLL YR W Y UHLIGL 65 356(3-['[ Aedldg 8.
centres. Then the formula of the compound B 518 A5 VLRI Ul X URMIRL 7 URMIg
would be if one of the X atoms from a corner is (Ll-loﬂ{-[?.n"z{S) q5 vieddidi w1d dl ?:Rn%’oioj,
replaced by Z atoms (also monovalent) ? HRIYA 2lld).

(1) X7Y4Z, (1) X7Y24Z»
(2) X7YZ (2) X7Y24Z
(3) XY/Z () X24Y7Z
(4) XYpZ (4) XYp4Z

49. Which of the following are the correct axial | 49. 221o0eicl UL HI2 efld wid2 A wely

distance and axial angles for tetragonal system ? $18le1l ALY Y& E21dd) (asey :
(1) a=b=c,a=B=y# 90° (1) a=b=c,a=p=y# 90°
(2) a=b# c,a=p=y=90° (2) a=b# c,o=B=7=90°
() a# b# c,a=p=y=90° (3) a# b# c,a=p=7=90°
(4) a# b# c,a# BFE y# 90° (4 a# b# c,a# B# y# 90°
10/28 . ° 3002CMD302122064
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50. Which equation represents Freundlich | 50. <13 Usl sy Ul gesdly  yudl
adsorption isotherm (physical adsorption is s [doNNel solld & 2 ((“flfafs N CENNE IR
basis of this theory)? [Riegida w1HIRA B.)
(1) % = K (P)'" where x is amount of gas (1) % —K (P)/P et x A P ol m’ £ U2

adsorbed on mass ‘m’ at pressure P A EENNERYNL] C{lﬂfﬂ oseel] 8.
(2) Iog%=logK+nllogP 2) 10g%=10gK+%logP
3) % = KP at low pressure and % =K at @ % = KP oflal el 24s % - K Gl
high pressure 6Ll

(4) All of these (4) 104 i %

51. Most effective ion to coagulate a negatively 51. =0 dlydiRd slads] Weel sdl Alell ay,
charged sol is WUSIRS WY :
(1) PO3~ 2) AP (1) PO~ @) APt
(3) Ba* 4) K’ 3) Ba’t @) K

52. Name the following reaction 52.  of1d WUg UlSUls] ol1H U]
CH;CH,Cl + Nal __acctone . CH,CH,I + CH3CH,Cl + Nal R4 o CH3CH,l +
NaCl NaCl
(1) Swartz reaction (1) %_cuaiy) ulsal
(2) Finkelstein reaction (2) [so5d8<1 Ulsul
(3) Waurtz reaction 3) 9éx»ulsul
(4) Hell-Volhard Zelinsky reaction 4) &4 -dleslS M@l ulsul

53.  Which of the following acid does not have — | 53. o{]A US| sul MQYH| ~-COOH UYs Eld\ «iefl ?
COOH group ?
(1) Ethanoic acid (1) 991855 1[US
(2) Picric acid 2) [UlssARLS
(3) Benzoic acid (3) Aobles NS
(4) Salicylic acid 4) AlaRudls ARs

54.  Which of the following complex is paramagnetic ? | 54. {13 U] 5| AUSIL Wi sl S1U B 2
(1) [Ni(CO)] (1) [Ni(CO)4]
(2) [Co(NHy)ql*" () [Co(NH3)l>*
(3) [Ni (CN)J* (3) [Ni (CN)g1>
(4) [NiCl, > (4) [NiClq1*

3002CMD302122064 . ° 11/28
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60.
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Both [Ni (CO),] and [Ni(CN)4]27 are diamagnetic.
The types of hybridisation of Ni in these

complexes are & respectively.

(1) sp’,sp’ (2) sp’, dsp®

(3) dsp, sp’ (4) dsp’, dsp”

Which of the following is not formed by
Sandmayer reaction ?
(1) C¢HsCl (2) CcHsl

(3) C4HsBr (4) C4H,CN

What happens when sucrose is reacted with
dilute H,SO, ?
(1) dehydration

(2) reduction

(3) oxidation (4) hydrolysis

In which of the following compound, all the
monosaccharide units are not joined by C;, - O —-C,

chain.
(1) Maltose (2) Lactose

(3) Cellulose (4) Amylopectin

What is the correct order of reactivity of the
alkyl halide in the ammonolysis with amine ?
(1) R-I>R-Br>R-Cl

2) R-CI>R-Br>R -1

(3) R-Br>R-I>R-CI

(4) R-I>R-CI>R-Br

LiAlH, PCl4 . Alcohol

y KOH z

CH,COOH X

what is final product z ?

(1) Acetaldehyde
(2) Acetelene
(3) Ethylene

(4) Acetyl chloride

55.

56.

57.

58.

59.

60.

[Ni (CO)4] 39 [Ni(CN)41%~ 6iad Ulcuisly B,
ol 241 SR Ni Hi A58 wegsi ua
el B,

(1) sp>, sp° ) sp, dsp”

3) dsp?, sp° @) dsp?, dsp?

1A WSl sAl Y AosHA UlsAL 95 Weld)

o2f] 2
(1) CgHsCl (2) CgHsl

(3) CgHsBr (4) CgH5CN

Y5loell He HyS0,4 Il ulsulell 9f 49l 2

(1) [A5uilsl 2) [Rss2lel

(3) w1543l 4) N [(deiloset

1A US) suL WRYHI oiedi HlAlAZASS W sH)
C] — O - Cy4 YWdl 93 B1S1A4 «ief] 2

(1) HIel 2) aselo

(3) AXYdl» (4) AHEU (s

Al (ARIUeAl UlsAMD ulesiSe Salosedl
AU (el A1) UlA(sULHSA LAl YRI sH $A] & 2
(1)
(2)
3)
4)

R-I>R-Br>R-Cl
R-CI>R-Br>R-1
R-Br>R-1>R-Cl
R-I>R-Cl>R-Br

LiAH, o FCl, v SIS )Z
) KOH

CH,COOH
(A [uos 2 58 B 2
() AR2lleselss

2) ARie[ae

3) elafd-

@) ARl sARIBS

3002CMD302122064
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61. On which factors, the stability of an oxidation | 61. Qeell8S drdlstl A[EASAA W@ lo{l Rl

state in Lanthanide elements depends? SULURUA UR IR €U 8 2

(1) Internal energy (1) WidRsBt

(2) Enthalpy 2) AeA(l

(3) Electronic configuration 3) i—SQ.‘sad WYel|

(4) Combined effect of hydration energy and (4) %Msw Glosl U A5 Glovded]
ionization energy UYSd AR

62. The formation of Cyanohydrin from Acetone 62. W [A2lsuiall Hlllﬂélfjglu'laﬂ Weilde sl

which type of reaction? uslReil ulsul 8 2

(1) Electrophilic addition reaction (1) 8a521e w211 Ala1Mld wlsul
(2) Electrophilic substitution reaction 2 SQSQ\M WA (el Uet UlsUl
(3) Nucleophilic substitution reaction 3) 35%2[01113[1 (et ulsul

(4) Nucleophilic addition reaction (4) SegleAl Alateile ulsul

63. What is the end product in the following series | 63. <l Ul ulsul AU Hadl »ildu «flues

of reaction. ¥Qlldl.

CH,COOH —:» A Het , B Pio CH,COOH —: > Attt , BB
(1) CHy (1) CHy

(2) CH;OH (2) CH30H

(3) CH;CN (3) CH3CN

(4) CH;COONH,4 (4) CH3COONH4

64.  Which of the following oxoacids results into 64. {13 w09 SUAAS U8 s 25UA[S

two series of salts? o &1l ARl el & 2
(1) H4PO, (1) H3PO,
(2) H;PO, (2) H3PO3
(3) HsPO, (3) H3PO4
(4) H4P,0; (4) H4P207
3002CMD302122064 . . 13/28
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65.

66.
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What will obtain by reaction (trans)2-butene + Br,?

(M CH,

Br Br
H—— H
CH,

() CH,
H——- Br
H— Br

CH,

3) CH.,
H——- Br
Br H

CH,
4 CH,
Br H
H—— Br
CH,
In the given reaction CH;-C

(i) CH;MgBr (excess)

i) H.0/H" [X]; [X] will be
2

(1) CH;CHO
) CH;—ﬁ—CH3
0
3  CH,
CH3—(|3—CH3
bi
4) 0O
CH3—!1|3—NH3

65.

66.

(21o3) 2-03Y (21 +Bry Uls L AS HA] o Tuos 23l idll.

(M CH,
Br Br
H— H
CH,
() CH,
H—— Br
H— Br
CH,
3) CH,
H—— Br
Br H
CH,
“4) CH.,
Br H
H— Br
CH,
A 0E UlsA Ui [X] @QlLdl.
CH3-C= N % X]
(1) CH3CHO

() CH;—ﬁJ—CH3
0O

3) CF3
CH3—(|3—CH3
OH
4) ‘lil)

CHs-CNH»

[ ]

[ ]

3002CMD302122064
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67. The ether C{H;OCH,CgHs on heating with | 67. CgH5OCH,CgHs 829 Aig HI U8 AH $di
concentrated HI produces YA «flyes esalidl.
(1) C¢Hsl and CgH;CH,OH (1) CgHsl ¥ CcH5CHyOH
(2) C¢Hsl and C¢HsCH,I (2) CgHsl s CgH5CHyI
(3) C4HsOH and CHCH,I (3) CgH50H el CgH5CHoI
(4) C4HsOH and C,H;CH,OH (4) CgH50H ¥el CgH5CHoOH
68.  Which is true for structure (i) and (ii) ? 68.  G{HIRQL (i) WA (i) HI2 AR Y D2
CH,OH CH,OH CH,OH CH,OH
H O H H O OH H O H H O _OH
5 OH H OH H OH H
HO N B0 HO H HO OH HO H
H OH H OH H OH H OH
(i) @ (ii) )
(1) (i) is B-D-(+) glucose and (ii) is a-D-(+) (1) (i) b-D-(+) 24,512 ¥4l (ii) a-D-(+) 2451
glucose. 8.
(2) They are anomers of glucose (2) 2¢5lell AellHY B
(3) They are enantiomers of glucose (3) gslpell Uld(cio{la) 8.
(4) Itis a mixture of D and L glucose (4) D A LOg5lose] (AR B.
69. Refining of nickel is done by 69. [siselo] e s euladl ueald :
(1) Mond carbonyl process (1) Hles sioil(d ulsal
(2) Van Arkel method (2) dlet w156 yed[d
(3) Victor Mayor process (3) [(ase NuR 512l
(4) None of these (4) As U ael
70. Cryolite (Na3AlFs) and CaF, is added in | 70. R&YM[AUHe1l [PVl HIR2 sRIELIS (Na3AlFg)
Electrolytic cell for extraction of aluminium as el CaFy ol E{%d[a.("l o9t SINH[ GRRALe] 5124 :
(1) to increases the conductivity (1) dlesdlMidylR] sl
(2) to decrease the melting point (2) 3lGl°1f5~i§,1-ll ¢21s) sdi
(3) to act as flux 3) sasd di3 skl 53
(4) All of the above (4) wG wyj %
71.  What is obtained on oxidation of 2°degree alcohol 71 [gcdlus wieslldsis] s1(Hs WS dS 15U
with chromic acid ? i HOd] ofluey -
(1) Aldehyde (2) Carboxylic acid (1) ulLleselss @) slofl(sulas ARS
(3) Ketone (4) Ester 3) (selel 4) ENPER]
3002CMD302122064 . . 15/28
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72. Calculate the cell potential of the following 72, Qe Uil SINeD SIN Q1R (21ud 1)),
concentration cell : B B
Pt | C1, (0.4 bar) [CI” (0.1 M) || CI” (0.01M) | Pt| Cly (0.4 bar) [CI” (0.1 M) || CI” (0.01M) || Cly
Cl, (0.2 bar) | Pt (0.2 bar) | Pt
(1) 0.051V (2) -0.051V (1) 0.051V (2) —0.051V
(3) 0.102V (4) 0.0255V (3) 0.102V (4) 0.0255V
73. Distance between tetrahedral and octahedral 73.  fec W25 Al ?‘lt:LB\‘sC‘l’hl @Q U
void in the fec lattice will be: (Given edge W SASIU (69¢ Ao iR QL. (ASH 51Nl
length of unit cell = a) tRe{l 41 a)
(1) V3a () 3a
) 4
@ v3a @) V3a
3) V32
3 2 G V33
fz
4
@) 3a R EL
3
74.  In K,[Fe(CN)4] the E.AN. of Fe is 74.  K4[Fe(CN)g] Hi Fe «ll E.AN. %sQlLdll.
(1) 33 (2 35 (3) 36 (4) 26 (1) 33 (235 (33 (4 2
75.  Which one of the following will give a white | 75. w10d U] sl A(5Ql dly HitdHHi AgNO3
precipitate with AgNOj3 in aqueous medium. U1 Ude WA 1YLl 2
(1) [Co(NH;3)5ClI] (NOy), (1) [Co(NH3)5CI] (NO2)2
(2) [Pt(NH;),Cl,] (2) [Pt(NH3)2Cly]
(3) [Pt(en)Cl,] (3) [Pt(en)Cly]
(4) [Pt(NH;),]Cl, (4) [Pt(NH3)4]Clp
76. Name of the given Reaction : 76. R R H
8 >c=0—iﬂ”?—> >c< N+ H,
R R H R KOH/ glycol R H
Sc-o—gmn L, el 4N +H, _
R sheel TR H WG U5 Lo ol 11 QL.
(1) Wolff-Kishner reaction (1) q6s - slolsR ulsyl
(2) Aldol reaction (2) ¥Iesld ulsul
(3) Clemenson's reduction (3) sAUelYel RSS2
(4) Gattermann koch reaction (4) dll2M el S1Y ulsul
77.  Which of the following oxides is Amphoteric ? | 77. <12 U$] 5] AIsULSS Qeiu{l Sl 8 2
(1) AlLO,4 (2) Na,O (1) AlLO3 (2) Nay)O
(3) B0, (4) CO, (3) B203 (4) COp
16/28 . . 3002CMD302122064
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78.

79.

80.
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In a set of reactions acetic acid yields a product
[D]. The structure of [D] would be

CH,COOH 9% o] —Sde ,p
: Anhy . AICI 3
HCN HOH/H'
SO
O CN

| |
(1) C6H5CH3—(|3—CH3 ) Cd{j—(lj—CHg

CN OH
OH COOH

|
(3) cg{j—(lj—COOH 4) CﬂHj—CHg—(f—CHg

CH; OH

For CH;3;Br + OH — CH3;0H + Br the rate of
reaction is given by the expression

(1) rate =k [CH;Br]

(2) rate=k [OH ]

(3) rate =k [CH;Br] [OH ]

(4) rate =k [CH,Br]° [OH ]’

In given reaction A, B and C are -

<:>:0 + CH MgBr

O:; ;’HQO ,r’r Zn C1

H,O"
I

Conc. HaSOy4 B

CH,

1
D o cm (Hs ,
3
A= é :B=©;C:=©HO
) HO~_.-CH; CH, O
A= :B=©:C=©.HCHO

H,

3) HO-__-CH; CH; ¢
A= . B= L C = CHO
CHO

CH,

4) HO~_CH;s CH;
A= ij ; B=©;c=©oo1{

78.

79.

80.

WG Ulsul ARHi 1 R12ls W RsH el weidl
oilu%s [D] o Wit %QLLd).

CH.COOH 9% j1a] — S B
' Anhy AICl 3
HCN HOH/H*
>[C] TR
OH (|3N
|
(1) cf,Hchz—(ljcﬂg (2) CﬁHj—(f—CHg
CN OH
OH COOH

|
3) cf.Hj—(lj—COOH (4) cm54H2—<|:4:H3

CH; OH

CH3Br + OH — CH30H + Br Hl2, W[(sdl A2y
w (M (5d e2lldd) [asey :

(1) dal =k [CH3Br]

(2) dA=k[OH ]

(3) Q2 =k [CH3Br] [OH ]

4) A3 =k [cH3Br? o 1°

<:>=o + CHMgBr —1% 5 A

Conc. H2504 B O:; ;’H20 4 Zn (1

UsULHL A, B wal C as1LLd).

1
D wo_cm (s CHy
A= ij : B=©; C=©HO
H, 0

17/28
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81.

82.

83.
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Following diagram represents.

(1) Lead buds of Bryophyllum
(2) Leafbuds of Agave

(3) Bulbil of Oxalis

(4) Leaf bud of Opuntia

Match the column-I with column-II and select
the correct option on the basis of codes given in

column-I and column-II :-

Column-I Column-IT

A. | Chlamydomonas | (i) |Bud

B. | Penicillium (i1)) | Gemmules
C. | Hydra (ii1)) | Conidia
D. | Sponge (iv) | Zoospore

(1) A-iv, B-ii, C-iii, D-i
(2) A-i, B-ii, C-iii, D-iv
(3) A-iv, B-iii, C-i, D-ii
(4) A-iii, B-iv, C-ii, D-i
Which are the external conditions required for

seed germination?

(1) Oxygen, carbon dioxide and suitable

temperature
(2) Oxygen, light, suitable temperature, and CO,
(3) Light, moisture and suitable temperature

(4) Oxygen, moisture and suitable temperature

81.

82.

83.

o1 w0g A15(d g £2Uld B 2

L% A
o [ N
)

(1) ulegllell usls(@siil

(2) AL ysls(@siil

(3) uylll uslast

@) sissleRedl uals(@sl

SIEH-T A SlaH-IT U8 %1S) A SlaH-T e

S1GH-IT ol NG A3dlell wIdR YR [dsey
uie 53 -

Sleu.-1 sley-1n

A. | SQMSIHld | G) | slast

B. | Udlladlyy Gi) |vid:slasl
c. |eigsi Gii) | 5Qllodlwny
D. |dlevil (iv) |ddoflonyy

(1) A-iv, B-ii, C-iii, D-i

(2) A-i, B-ii, C-iii, D-iv

(3) A-iv, B-iii, C-i, D-ii

(4) A-iii, B-iv, C-ii, D-i

oflogell uig0L Ul 58 ol Rudllel
%BRYUId 1Y B 2

(1) 5d%el, Slofst SIRILSULISS A ALY
IURIE]

(2) U[5A%et, UsLRL ALY dIUHlel A CO,

(3) USl2L, | Wl Y)Y dlUH et

(4) 2\ [sA%et, A% el AW cdlUH Lot

3002CMD302122064
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84. Match the following Column - I and II, select | 84. WIUG S14H I Wal 11 o UWLd], HR(L 1S
correct option indicating a correct match? g1ad) ([asey yue s2.
Column-1 Column-1 Column-II
Column-IT
(Type of (Example) (ULt Ustel) USIR) (GeleL)
Pollination) N
(i) |Entomophily (a) | Zostera @ A2l 5l (@) (CRULS eIY)
(ii) | Ephihydrophily | (b) | Pinus Gi) | Adletgslsel (b) | ULEe1d
(iii) | Hypohydrophily | (c) | Amorphophallus (iii) | elSUle1S(sd]l | (o) | YRul
(iv) | Anemophily (d) | Vallisneria (iv) | A4l sldl (d) | Ald Rl
(1) (@)-(b); (i1)-(d); (iii)-(c); (iv)-(a) (1) ()-(b); (iD)-(d); (iiD)-(c); (iv)-(a)
(2) (1)-(c); (i1)-(a); (ii1)-(d); (iv)-(b) (2) ()(c); (iD)~(a); (iiD)-(d); (iv)~(b)
(3) (1)-(c); (i1)-(d); (iii)-(a); (iv)-(b) () ()-(c); (iD)~(d); (iii)-(a); (iv)-(b)
(4) (D)-(a); (ii)-(c); (iii)~(d); (iv)-(b) (4 (i)-(a); (i)-(c); (iii)-(d); (iv)-(b)
85.  Fusion of male gamete with egg cell of embryosac 85. quyedi SsIY A1 R Y], ASIQL ............
is known as : di3 alauiy 8.
(1) Syngamy (2) Embryogeny (1) Yoy (2) QIo%eist
(3) Triple fusion (4) Double fertilization S MEEUEANIED (4) Q4§ s4si
86. Read the following statement and select maximum 86. WG| [dellel) diy] wa) WIE] %2l HI2 URI
correct matching of blank space. ([asey uie 52N :
The male accessory glands include ...I..., ...1L.... and o2 USRS ARRNUL 1., I ¥ ...
.11L... glands. secretions of these glands constitute ellel)l HHI1AQL AR B, L AR Hld
the ...IV.... plasma which is rich in ....V...,, ....VL... LIV M ERIA B B YssO YHIRIH L. V..., ... VL.
and certain enzymes. The secretions of .....VIL.... also U wYSs GRSl €R1d B, L VIL.. <l 4ld
helps in the lubrication of the penis. (2181e1 GloQIH | UL Hee 53 8.
(1) I. a seminal vessicle, II a prostate, III a (1) L Yslad, 11 Wi, I Wewlylud, v
bulbourethral, IV seminal, V fructose, VI qﬂluf, \" éfs?]a‘), VI 3[c1u, VII 516URs{l
Calcium, VII Cowper’s gland. Al
(2) I-paired seminal vessicle, II-a prostate gland, ) I—?J,[Sl-{d UslRlY, _H LlTéRr A, -
II-paired cowper’s gland, IV-seminal, V- ?;Lfsl-l{lr&@l-llaﬂ AleL '{V-.C;'_l?-l, V=451,
- - b)
Glucose, VI-sodium, VII-Cowper’s gland. VI-HlISUH, VIE-s16URAL A
3) 1-Y[Hd sl 11 Ve A, 1m1-yPHd
(3) I-paired seminal vessicle, II-a prostate gland, I1I- SUIS . S~ c - 1114
- ¢ ol [Voserminal, VoE sIGURAl adfel, 1vcld, v-gsel», VI-
paired cowper’s gland, IV-seminal, V-Fructose, (Co1un, VII-Gicull 3y 3l
VI-Calcium, VII-bulbo-urethral gland. _ )
(4) 1-51GURel 3lle, -yl Ale, m-yPud
4) I- ’s gland, II- tate gland, I1l-paired
(4 T-cowper’s gland, Il-prostate gland, Ifl-paire USIRAY, TV-248)55, V-§52)05, VIB[CRlun,
seminal vesicle, IV-Glucose, V-Fructose, VI- - .
. VII-{eulyug (e
calcium, VII-Bullbo uretheral gland.
3002CMD302122064 . ° 19/28
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87. The correct chronologcal order of the following 87. <lAsfl elestinlell ALY s AL B 2
events is :
(1) Gametogenesis —  Fertilization — (1) eyosetel — §&el — lAAUA — dAeHRY
Insemination — Gestation — Implantation e U — LR-LE[
— Parturition .
(2) BYxeted — qlAJAUA > sHel  —
2 . . . F .1. . i r
2) Gametogenesis — Insemination — Fertilization L6528l el — Ll%iﬁ:l _, aefuRel
— Implantation — Parturition — Gestation
(3) WYelol — dlAAUA — §Gol — A{U (Yol
(3) Gametogenesis — Insemination — Fertilization .
. . . — YR8l — uy(d
— Implantation — Gestation — Parturition
4) AUl —> %oY%otel > §Col — JG1eUsA
(4) Insemination — Gametogenesis — Fertilization @ . - - ¥4l
— Implantation — Gestation — Parturition — ACREL - Wy(d
88.  Trophoblast are the cells which are not | 88.  oefulNssIN Adl SN D, 3R ... oAl (M QM
involved in the formation of ? Q1oL Ad e,
(1) Foetal part of placenta (1) oRAYell @;LQﬂQJ_ e
(2) Chorionic villi (2) %UYY 2}-{§?_
(3) Extra embryonic membrane (3) dulRlell el yed)
(4) Embryonic ectoderm, mesoderm and @) ulld  wledlelRdl, HR1AR  wA
endoderm Bid:AeldR
89.  Government of India legalised MTP in | 89 ®Rd SR MTP il gUALIA 2ladl Hle
............ HI Auld LAl UL Ao sluelsl
with some strict conditions to avoid its misuse. 59 9
(1) 1951 (1) 1951
2) 1971 (2) 1971
3) 1977 (3) 1977
4
@) 1978 4) 1978
90. Oral contraceptives are used by females to | 90. H[sGlM] gRI Hwdle GUAPMI Adidl
check mainly Ae{ RS el oA ........... o wesld 8.
(1) Implantation (1) Jleieluet
(2) Fertilisation (2) §4d
(3) Ovulation (3) ¥isudet
(4) Entry of sperms in vagina @) AUAHMI Y5SN8l udel
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91.  If Mendel crossed the tall F, plants with dwarf | 91. o] Qesel F, U2letl GRIl detru(ciletl oelloiusR
plants to determine genotype of tall F plants (steLReLH R GRIL Fy dotu(cladle o Mot cletid(d 4 18)
then this type of cross would be called as :- UK KA D Al USRWAALUSR ... 5S8R D.
(1) Test cross (1) sA12lsW
(2) Selfing (2) WsGel
(3) Reciprocal cross 3) [(deg RUlulsa) A0
(4) Out cross (4) w1Ge slu
92. Turner syndrome is the result of 92. 2ol eI A . G uReuH 8.
(1) Trisomy (1) 2141H]
(2) monosomy (2) HleNAHl
(3) Deletion of chromosomal part (3) 2yaAly e1191edl dly
(4) Addition 4) G
93.  Which of the following enzyme have the ability | 93. o{lQeiiHiel sAl GAUS WA [(SAU5U
to polymerize de-oxy ribonucleotide ? ﬁoﬂcﬂﬁsﬁlbﬂalﬁsm O{gS,CﬂSQQM'l HHAL S B 2
(1) Helicase (2) RNA polymerase (1) &l (2) RNAUl[EHR
(3) DNA polymerase (4) Primase (3) DNAUL[GH»  (4) Ul
94. Isotopes used for proving semiconservative 94. DNA WE: (U 2dosetel LG sl HIR
replication of DNA are:- | UHUL[AS)e1) GUYLIL s M L),
(1) N'"*and p*' (2) N*andN" M) N4uapdl @ NYwant
(3) N'*and " (4) S and P¥ G N4wact @ sPwap?
95.  Which linkage (bond) is not found in DNA ? 95. 53| 6jt DNA Hi %\dl Had) «iefl 2
(1) N-glycosidic linkage (1) N-2414s1lsls oiy
(2) Phosphodiester linkage (2) sl¥sISIUANRR viYy
(3) Peptide linkage (3) delgs vy
(4) Phosphoester linkage (4) slaslneR oiy
96. Severo ochoa enzyme is :- 96. AAA WISIUL GRS .......... 8.
(1) Polyribonucleotide phosphorylase (1 u}cﬂ(i@q@aw\aéa PARTARIEICR
(2) Polyribonucleotide dephosphorylase 2) JldlRuly[s62112165S [SE1S1 AR
(3) Polydeoxyribo nucleotide dephosphorylase @) ulla(sRdlRul og,[%cmla 165 [SERER A
(4) Polydeoxyribo nucleotide phosphorylase @ Ullass{lRe sl 1es s161R 1A
3002CMD302122064 . . 21/28
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97. Match List - I with List -II :- 97. %Bl'l-la?:ﬂ'l-ﬂala"ﬂsl
List -I List -IT 3R OB
Selection of

. ay Usdl «{leRlstIRLs

resistant N ] ]

Adaptive . varieties due to N A B-tRISAL
(@) | Welslad YR8 | G)

(@) radiation @ excessive use of Guablel  uldRlus
herbicides and (ot uieail
pesticides -

u[e1?) | Mol i cdtet] 242
Convergent . }?ones. of fore ® Gefasl (11) GUdlet | 4 [Re1)
(b) s (i) | limbs in
evolution -
Man and Whale o U] i UdPRIL w4 ugilsil
c i) [
Divergent ..._ | Wings of Butterfly Gefasi Yl
© evolution (1) and Bird Do\ lBeAls
Evolution by @ | (5ul GRL| () | Slcet $T1
(d) ant.hropogenic (iv) | Darwin Finches GQ[EL% ™
action
Choose the correct answer from the options of[ 241061 (clsailHief] A RI) [Ased uie 51,
given below. @|lo!|©|a@
@ |®|©|@ NP
il il Bttt || G| @ | 6

(1) | Gv) | (1) | (i1) | (©)

PR RS R R @ | @) @ | @ [Gv)

(2) | () | (1) | (@) | ()

()| (i) | () | Giv) | (i) @] @] O || G

@) | () | @Gv) | dii) | i) @] @ | (v)| (i) | ()

98. Hardy-Weinberg equilibrium is influenced by 98. &lS (detuqdl dgdel  welldvale, ellles
gene flow, genetic drift, mutation, genetic (quds, @5(&, ofsil (15 ‘11,011%{21-1%4 ......... JAR]!
recombination and :- uellad 4y 8.

(1) Evolution (1) Gelasid

(2) Use and disuse of organ (2) ¥Aeil GUYLIL W [ GUA)L

(3) Over-production 3) [&gq—(iculasm

(4) Natural selection 4) AuMls ULl

99.  Which of the following antibodies is present in 99. oflAstl US] ... AZlelSl A sl
colostrum ? QR [clet | gt IchH [ Hofl 419 B.

(1) IgE (2) IgD (1) IgE ) 1gd

(3) IgM (4) IgA 3) IgM 4) IgA
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100. The figure below shows steps A, B & C of

replication of retrovirus. Select the option
giving correct identification
Retrovirus
Vu al RNA core
Virus infects
Vual protei normal cell Plasma
coat membrane
Animal cell |
i Vlral RNA is introduced into cell
A J -
W ﬁ
e C

New viruses
are produced

@ @ Nucleus
. J
New viruses

can infect other cells

(1) A-Incorporation of viral DNA into host

genome with integrase enzyme

(2) B-Production of new viral DNA by

infected cell

(3) C—Replication of viral RNA by protease

enzyme
(4) A-Viral DNA formation by reverse
transcriptase enzyme
101. Match the column :
Column-I Column-IT
(a) | Morphine (i) |hallucinogen
(b) [LSD (i) | stimulant
§ | sedative &
(c) | Marijuana (ii1) .
analgesic
(d) | Coke (iv) | Cannabis sativa

(1) a-(iii), b-(i), c-(iv), d-(ii)
2) a-(i), b-(ii), c-(iv), d~(iii)
3) a-(ii), b-(i), c~(iii), d-(iv)
(4) a-(iii), b=(iv), c-(ii), d-(i)

3002CMD302122064

100.

101.

W b{t{;ﬁm A, B U C R2lAlSe]
rciiopelet £2lld B A ajdefld Ay [asey
Uit s2.

Rzlausam .
41524 DNA 512
6 ;I
- ‘ LS 2HU S1uA
““E%':“;L A | Jusiza 53
SUEREE £luaH a2
@ wisll 3‘m|

o~

™

Az RINA siuHl e e,

ey .r"
©: @ e |
" A

@/ Al audaz oo slun Aunse 53

(1) A-8[2A» GRAUS Al d18d DNA o
Yo Lol %oilet A gE (el w118l

(2) B-AUAX SIN GIRL «ldl dl8E DNA o
S

3) Ul BAUS GRRL dlERE RNA f
AoSolsl

4) A-Rdd 21uER» ¢l dlgE DNA
EHE]

B1551 D1\ :
Column-I Column-I1
(a) |H18[et () | &Y Relogel
(b) |LSD (i) | GAxs
T | RS A
(€) | ¥ W) 1 \sisies
| St yelgal
(d) | 518 (Coke) | (iv) -
(cannabis sativa)

(1) a-(iii), b-(i), c-(iv), d-(ii)
(2) a-(i), b-(ii), c-(iv), d-(iii)
(3) a-(ii), b-(i), c-(iii), d-(iv)
(4) a-(iii), b-(iv), c-(ii), d-(i)

[ ]

[ ]
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102. Which one of the following options gives the correct 102. L Wlsl SRS ol Well dalddlell USRA
matching of a disease with its causative organism and ojdefle, of1Aet Hjefl A 1RI) [aseu uie s,
mode of infection ? 31 NS4 st
Discae Canstive Organisms | Mode of Ifection ddladiell usk
. 57l [Nt Ul wa
N — . | with infected water 1| steftuon | & &
lephantiasis | Wuchereria bancrofti Qg]sé]_ U{-les
and food
P ) nagy | RS R Aelsey
1 O male
2 | Malaria Plasmodium vivax qlAs 192 55 (il
Anopheles mosquito -
vle{lAd] diyMi g
3 | Typhoid Salmonella typhi with inspired air 3| 216sl6s 2156 Scl Ul
Streptococcus i
4| Preumonia | Droplet Ifection 4| relslsd Yeulodg (Qhae)
pheumoniae ] GRUSEIAAY
103. In which option column-I is correctly match with 103. il Nd Sla-T o] slau-1T A1efl Yidld 1S
column-II :- 569 -
Column 1 Column-II sley| LALCET) |
2G qls
(A)| Bittergourd | (I) | Iron enriched ()| Skl (0| dledea efl 2
. — : ®)| 519 a | ([aer{let c el uY,
(B) | Pumpkin (1) | Vitamin C enriched
Y2641 (@il A ysd €l
(C) | Parabhani kranti | (IIT) | Vitamin A enriched O ¢ia1 y; A,
(D) | Tomato (IV) | Protein enriched (D) | ciHel (V) | W21y st ofl Ay,
(1) D withI (2) A with IV (1) DAL (2) AdATIV
(3) C withII (4) B with III (3) cAdld 4) BA I
104. High yielding and disease resistant varieties of | 104. dy GelleScll 34al AAU[AAESdL YLlcld)] 8Geil
wheat in India is HRAlY 2l ... 8.
(1) Sonalika and Kalayan Sona (1) Aleldlsl A SRULRL Aell
(2) Sharbati Sonara and Pusa Lerma (2) ARl Al Wl Y11 QM|
(3) Jaya and Ratna (3) UL Wl il
(4) Jaya and Sonalika (4) osUl ¥ Aletldlst
105. A new breed of sheep developed in India by 105. U2 Adted GRLGRAH el oicf] o(d “(suR34”

24/28

cross-breeding, called "Hisardale". It is a cross.
(1) Bikaneri ewes and Marino rams

(2) Marino ewes and Bikaneri rams

(3) Malavari ewes and Bikaneri rams

(4) Bikaneri ewes and Malavari rams

([asdiad i wid] 21145 slefl g &) 2

(1) (ws143] 821 el Hiell 82
2) Aol 82l wal [ws13] 82l
(3) uldld3] 82l wal [cs143] 82
(4) (ws193] 82] el Hidai] 82l

3002CMD302122064
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106. Which of the following species of honeybee is | 106. ofldsiiell Huuuildl 56 ondl yuud
most commonly reared in India ? HIRAHL GAAMI 41d & 2
(1) Apis indica (1) WY =551
(2) Apis dorsata 2) Al slkAel
(3) Apis florae, Apis mellifera (3) Wl selxL, A Ad]FR1L
(4) All of these (4) W04 vy %
107. In primary treatment, large and small particles 107. s HRARUL ... Al ulsdl gl
physically removed from the sewage through Rideyuiell Hlel w4 sileil sQ0A ellds 3d &R
the process of :- 5119 8.
(1) filtration (2) sedimentation (1) a0l (2) WdAlesl
(3) Both (1)and (2) (4) Biological treatment (B) (HUA)6id 4 B[dsURAR
108. Match the Column I with Column II and select the | 108. S)cH [el SI1GH THIS YIRI (A5 U¥E S
correct option sl sl
Columnn] Column-I NEDNCE | erii
[A] | Single cell protein | (i) | Autotrophic microbe [A] Y1elet @ YeHond
[B] | Lady Bird (i) | Mosquito [B] A\ s i) | H2e9)
[C] | Dragon flies (iii) | Aphids (€] | Pletsaity (i) | AESU
[D]| Cyanobacteria | (iv) | Spirulina D] | URDNASERUL | (iv) | [URR(EtL
(1) A-iv, B-ii, C-iii, D-i (1) A-iv, B-ii, C-iii, D-i
(2) A-iv, B-iii, C-ii, D-i (2) A-iv, B-iii, C-ii, D-i
(3) A, B-ii, C-it, D-iv (3) A-i, B-iii, C-ii, D-iv
(4) A-iv, B-i, C-ii, D-iii (4) A-iv, B-i, C-ii, D-iii
109.  Lactobacillus mediated change of milk to curd | 109. ¢yof ¢&IHi ASNAR/GY GIL BUIARL ............
occurs due to :- A 5RO A D.
(1) Coagulation and partial digestion of milk (1) &qaﬂ ll{(*ﬂﬂi Sigel 212 WifE15 Ul
fats
(2) Coagulation and partial digestion of milk (@) gl I’nad"i Aot 2 2if21s ULdet
proteins. (3) tdell WElsto] dloet il gief]l URe{lof Y8l
(3) Coagulation of milk proteins and complete luel
digestion of milk fats.
(4) Coagulation of milk proteins and complete (4) et Ll dleet el gieti VLl HL!\Q[
digestion of milk proteins. SR
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110. Which of the following enzyme is known as, 110. <{lAeiuiel]l sA) GRAUS weilleds e dild ad
genetic glue ? 89
(1) DNA Polymerase (1) DNAUl[GH»
(2) Alkaline Phosphotase (2) WIE5|Ee 5126
(3) DNA ligase (3) DNA QISR
(4) All of the above (4) GUsd wHl o
111. Which of the following is direct method of | 111. flAstiMiefl 5¢ A eflel @U1AidL HIR+{l Ulel
gene transfer, suitable for plants ? (Direct) 1-[&(,[;1 8 % deiu[dull HI2 %ilnm. 82
(1) Tiplasmid (1) TiWl»Hls
(2) Biolistics 2) BdUAUS] (WIR(ER]S)
(3) Microinjection (3) Yeu vid:auw
(4) Cosmid 4 slals
112. CrylAb gene is responsible for controlling of :- 112. CrylAb el ... oAl (R4 12 AIHER B.
(1) Bollworm (2) Round worm (1) olgqy 2) N sMH
(3) corn borer (4) fruitfly (3) Sl Gl (4) saulul
113. GEAC stands for :- 113. GEAC YRQIeilM ...........
(1) Gene enhancement approval committee (1) el Wesloree Aydd sHll
(2) Genetic engineering applied committee (2) BALls WeR)lUol Awdlese sHlS)
(3) Genetic engineering approval committee (3) BA2ls We-lulal wyad s1{2
(4) Gene evaluation applied commitee (4) el SAlRQlet 1S 5121
114. The reason for prickly pear cactus to spread in 114. bﬂ%%,@lll[l-l[ (sl (MR 3sed (slsslallr) o
Australia is brought by :- Sdlddle] s1261 Yuad 9) wQlld] ASIY 2
(1) The availability of water (1) uleileil Guauedl
(2) Human activity (2) Uee] (su1(e]
(3) Absence of cactus feeding animals (3) 352 WicllRl ULl Areles3]
(4) Availability of predator in Australia (4) ¥x(qUIi eisl Gudoedl
115. Which of the following features is not an | 115. o{lAsiiHiell sy €e1l A UAUXdle] WeisEst

26/28

adaptation of parasites ?

(1) Absence of unnecessary sense organs
(2) Presence of adhesive organs or suckers
(3) Well developed digestive system

(4) High reproductive capacity

o1&f] 2

(1) Aetldeys YAEldllefl W el

(2) ([USIAYSA 2L Aud] Yuslel sl
(3) Ylasxld uidetdst

(4) G UI%elels gHdl
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116. Which of the following is a man made artificial | 116. o{lAstiHiell 53 Hleld Ho¥[d §EH [Flddstdst B 2
ecosystem
(1) Grassland ecosystem (1) dQie [rddeldat
(2) Forest ecosystem (2) %34 od sl
(3) Ecosystem of artificial lakes & dams 3) {s[;ll-l dald 3{q gHoi BErTERE
(4) None of these (4) GUrellniel X suyl «ifs
117. Standing crop is :- 117. Gl uls A -
(1) Multidimentional and fundamental niche (1) ¥l WeuMIRI uA  oiRRY
of an organism GIE SlU‘:Lli.gcﬂ
(2) Climatic climax of the given area (2) WG [ddRell AlelledLs1Y URASIBL
(3) Mass of living organisms or number of (3) ¥su @.leiHl ed Pdd AYdl weall
organisms in a unit area AUl qLAl
3 o . @ 4 x 1013 kg slofed, 3 @ Faraami
(4) 4 x 10°° kg carbon, which is fixed in the i) g G - 18
9
biosphere through photosynthesis annually HSIRIHANEL GRIMIAAN LA U O,
118. Montreal protocol is related to :- 118. Hleglud vlalsld .......... UL Hoiledd 8.
(1) Global warming (1) ARl GMdL (Global warming)
(2) Ozone depletion (2) W1lel Hdetyel
(3) Water pollution control (3) wEUENR] ERETE]
(4) Biodiversity conservation (4) d(a(qudl el
119. According to the Central Pollution Control 119. . c
9. According to the Central Pollution Contro % Yol UgNQL (FRIAGL GlSetl SR, HefSiell
Board, particle that are responsible for causing
great harm to human health are of diameter B [21oUA WO % oj52llel Sl SQel) ALY :
1) 5.0 micrometers (2) 2.5 micrometers
M ? (1) soHgsHle:  (2) 2.5HIEsHIR
3) 7.5 mi t 4) 2.5 millimet
() 7.5 micrometers  (4) 2.5 millimetre 3) 75HI8sHle: (@) 2.5 4HldlHler
120. Ecosanitation is: 120. gs\Al2AA A .........
(1) Sustainable system for handling human (1) ¥Hled Gedl chnoﬂ QAR [Uq] l-llécj', dA
excreta L
(2) 5[ SUUsAL U@ Ut HI2s]
(2) Sustainable system for handling agricultural
wastes 3) OIS SsYvieestl AdRlUst HIe]
(3) Sustainable system for handling industrial d4
effluents o
(4) g[ds [dQlldstell cudel[Ust HIRe] diat
(4) Sustainable system for handling
biomagnification.
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